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THREE DIMENSIONAL CO-ORDINATES

Solved Problems

1. Show that the point 'A(-4, 9, 6), B(-1,6,6),

C(0,7,10) form a right angled isosceles triangle.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KDlEyrPk6G8n

° Watch Video Solution

2.Show that the point whose distance from Y-
axis in thrice its distance from (1,2,-1) satisfies
the equation

822 4+ 9y? + 822 — 18z — 36y + 182+ 54 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_KDlEyrPk6G8n
https://dl.doubtnut.com/l/_UIFF9LAcuftM

: — = —
3. A, B, C are three points ® ,oy,o0z

respectively at a distances of a, b, c
(a #£0,b # 0,c # 0) from the origin O. Find
the coordinates of the point which is

equidistant from A, B, C and O.

o Watch Video Solution

4.1f the point A(3, -2, 4), B(1, 1, 1) and C(-1, 4, -2)

are collinear then (C: AB) =

° Watch Video Solution



https://dl.doubtnut.com/l/_LfW82gXPdIoS
https://dl.doubtnut.com/l/_9vtjldSJduAG

5. Find the ratio in which YZ-plane divides the
line joining A(2,4,5) and B(3,5,-4). Also find the

point of intersection.

° Watch Video Solution

6. Show that the points
A(3, —2,4),B(1,1,1),C(— 1,4, — 2) are

collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_9vtjldSJduAG
https://dl.doubtnut.com/l/_K2B75lAU9gvb
https://dl.doubtnut.com/l/_6pc1Eri5Asqe

7. Find the fourth vertex of the parallelogram

whose consecutive vertices are

(2,4, —1),(3,6, —1) and (4,5, 1).

o Watch Video Solution

8. A(5,4,6), B(1,-1,3),C(4,3,2) are three points.
Find the coordinates of the point in which the

bisector of | BAC meets the side BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_kmgyPtkPuvBo
https://dl.doubtnut.com/l/_xWPtrGLurP32
https://dl.doubtnut.com/l/_ssPRxd0y0Asl

9. If (z1,y1,21) and (x9, Yy, 22) are two
vertices and (a, B,7) is the centroid of a

triangle, find the third vertex of the triangle.

o Watch Video Solution

10. If D(ZBl, Y1, Zl), E(CCQ, Yo, Zz) and
F(x3, y3, 23) are the midpoints of the sides
BC, CA and AB respectively of a triangle, find its

vertices A, B and C.

° Watch Video Solution



https://dl.doubtnut.com/l/_ssPRxd0y0Asl
https://dl.doubtnut.com/l/_B0nK7bTtTg2I

M. If M(a, B, ) is the mid point of the line
segment joining the points A(xz1, y1, z1) and

B then find B.

o Watch Video Solution

12. If H, G, S and | respectively denote
orthocentre, centroid, circumcentre and in-
centre of a triangle formed by the points (1, 2,

3),(2,3,1) and (3,1, 2), then find H, G, S, |

° Watch Video Solution



https://dl.doubtnut.com/l/_rPYoPVySQdA3
https://dl.doubtnut.com/l/_cRkPsdcbKEJu

13. Find the incentre of the triangle formed by

the points (0, 0, 0), (3, 0, 0) and (O, 4, 0).

o Watch Video Solution

14. If the point (1, 2, 3) is changed to the point
(2, 3, 1) through translation of axes, find the

new origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_cRkPsdcbKEJu
https://dl.doubtnut.com/l/_KpUvSR5j1p2r
https://dl.doubtnut.com/l/_UsWYOG3d4cGx
https://dl.doubtnut.com/l/_SvVf8LgB7qlG

15. Find the ratio in which the point P(5,4,6)
divides the line segment joining the points
A(3,2,-4) and B(9,8,-10) . Also find the harmonic

conjugate of P.

o Watch Video Solution

Textual Exercises Exercise 5 A

1. Find the distance of P(3, -2, 4) from the

origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_SvVf8LgB7qlG
https://dl.doubtnut.com/l/_43CmLkmZKPbF

2. Find the distance between the points

(3,4,-2)and(1,0,7)

o Watch Video Solution

3. Find x if the distance between (5,-1,7) and

(x,5,1) is 9 units.

° Watch Video Solution



https://dl.doubtnut.com/l/_43CmLkmZKPbF
https://dl.doubtnut.com/l/_viuSmycw4rR1
https://dl.doubtnut.com/l/_QHIVJTkJmb44

4. Show that the points (2, 3, 5), (-1, 5, -1) and

(4,-3, 2) form a right angled isosceles triangle.

° Watch Video Solution

5. Show that the points (1,2,3), (2,3,1) and (3,1,2)

form an equilateral triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_tIy9al1zW5s3
https://dl.doubtnut.com/l/_ujjuB74h9SaC

6. P is a variable point which moves such that
3PA =2PB. If A(-2,2,3) and B=(13,-3,13) prove that
P satisfies the equation.

2?2+ % + 22+ 28z — 12y + 102 — 247 =0

° Watch Video Solution

7.Show that the point (1,2,3),(7,01), (- 2, 3,

4) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_zYdqzxWQAsQb
https://dl.doubtnut.com/l/_z8SN6xZaHKAE
https://dl.doubtnut.com/l/_3vOmgf8IF2OA

8. Show that ABCD is a square where AB,C,D
are the points (0,4,1),(2,3,-1),(4,5,0) and (2,6,2)

respectively.

o Watch Video Solution

Textual Exercises Exercise 5 B

1. Find the ratio in which the XZ-plane divides

the line joining A(-2,3,4) and B(1,2,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_3vOmgf8IF2OA
https://dl.doubtnut.com/l/_N4wMbMHFpCf5

2. Find the coordinates of the vertex 'C' of
AABC if its centroid is the origin and the

vertices AB are (1,1,1) are (-2,4,1) respectively.

o Watch Video Solution

3. If (3,2,-1),(4,1,1) and (6,2,5) are three vertices
and (4,2,2) is the centroid of a tetrahedro, find

the fourth vertex to that tetrahedron.

o Watch Video Solution



https://dl.doubtnut.com/l/_S3kd961hblXU
https://dl.doubtnut.com/l/_0a8jbsudPHlp
https://dl.doubtnut.com/l/_k0zmcPzDSa0f

4. Find the distance between the mid point of
the line segment AB and the point

(3, — 1, 2) where A=(6,3,-4), B = (-2,-1,2).

o Watch Video Solution

5. Show that the points (5/4,2),6,2,-1)

and(8,-2,-7) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_k0zmcPzDSa0f
https://dl.doubtnut.com/l/_K2mFmW0443V6

6. Show that the points
A(3, 2, — 4),B(5, 4, — 6) and C(9, 8, — 10)
are collinear and find the ratio in which B

divides AC.

° Watch Video Solution

7. If A(4,8,12), B(2,4,6), C(3,5,4) and D(5,8,5) are

— —
four points, show that the lines AB and CD

intersect.

° Watch Video Solution



https://dl.doubtnut.com/l/_oqeqtQmYP6jd
https://dl.doubtnut.com/l/_BCc7Uy1Mje9P

8. Find the point of intersection of the lines A
B and C, where A= (7,-6,1) B=(17,-18, -3), C = (1,

4,-5) and 0 =(3,-4,11)

1, -4, 11

o View Text Solution

9. A(3, 2, 0), B(5, 3, 2), C(-9, 6, -3) are three

points forming a triangle and AD, the external


https://dl.doubtnut.com/l/_BCc7Uy1Mje9P
https://dl.doubtnut.com/l/_fdFPSE7mp2d8
https://dl.doubtnut.com/l/_fVN7XmXJN7lx

bisector of BAC, meeting BC at D then find D.

o Watch Video Solution

10. Show that the points 0(0,0,0), A(2,-3,3)
B(-2,3,-3) are collinear. Find the ratio in which
each point divides the segment joining the

other two.

° Watch Video Solution



https://dl.doubtnut.com/l/_fVN7XmXJN7lx
https://dl.doubtnut.com/l/_exlVVCbfKkX3

